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1.自然数の四則混合の逆算vol.1(3問目)

(1) 286− {( × 24− 36)÷ 12 + 26} × 5 = 51

(2) 424− {( × 30− 60)÷ 10 + 32} × 8 = 48

(3) 381− {( × 10 + 95)÷ 5 + 50} × 4 = 73

(4) 359− {(10× 15− 85)÷ + 38} × 6 = 53

(5) 306− {(14× 14− 91)÷ + 20} × 7 = 61

(6) 53 + {(4× 26 + 52)÷ + 22} × 9 = 359

(7) 65 + {(7× 24− 16)÷ + 40} × 8 = 537
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2.自然数の四則混合の逆算vol.1(3問目)

(1) 547− {( × 39− 52)÷ 13 + 43} × 9 = 61

(2) 375− {( × 21 + 70)÷ 7 + 20} × 7 = 39

(3) 388− {( × 33 + 77)÷ 11 + 36} × 6 = 58

(4) 332− {(9× 22− 88)÷ + 45} × 5 = 57

(5) 526− {(7× 12 + 66)÷ + 35} × 8 = 46

(6) 51 + {( × 16− 56)÷ 8 + 43} × 8 = 483

(7) 72 + {(14× 12− 36)÷ + 29} × 7 = 429
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3.自然数の四則混合の逆算vol.1(3問目)

(1) 448− {( × 12 + 36)÷ 6 + 44} × 5 = 78

(2) 564− {(9× 26− 39)÷ + 41} × 9 = 60

(3) 48 + {( × 39− 91)÷ 13 + 42} × 6 = 402

(4) 65 + {(5× 10 + 15)÷ + 43} × 4 = 289

(5) 80 + {(4× 36 + 96)÷ + 28} × 6 = 368

(6) 63 + {(4× 22 + 99)÷ + 38} × 5 = 338

(7) 301− {(13× 24− 80)÷ + 37} × 4 = 37

(8) 339− {(10× 10 + 40)÷ + 23} × 6 = 33
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4.自然数の四則混合の逆算vol.1(3問目)

(1) 382− {(5× 27− 36)÷ + 37} × 7 = 46

(2) 274− {(11× 14− 42)÷ + 50} × 3 = 76

(3) 74 + {(6× 21 + 28)÷ + 32} × 9 = 560

(4) 35 + {(6× 27 + 72)÷ + 42} × 8 = 579

(5) 306− {(5× 12 + 48)÷ + 32} × 5 = 56

(6) 453− {( × 27 + 18)÷ 9 + 35} × 8 = 61

(7) 315− {( × 36 + 96)÷ 12 + 49} × 4 = 39

(8) 394− {(8× 30− 70)÷ + 23} × 8 = 74
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5.自然数の四則混合の逆算vol.1(3問目)

(1) 307− {(10× 22 + 55)÷ + 43} × 4 = 35

(2) 384− {(10× 15− 85)÷ + 40} × 6 = 66

(3) 69 + {(4× 18 + 48)÷ + 42} × 7 = 503

(4) 40 + {(10× 20− 90)÷ + 45} × 4 = 264

(5) 553− {(12× 18 + 54)÷ + 38} × 7 = 77

(6) 471− {(12× 16− 56)÷ + 27} × 9 = 75

(7) 411− {( × 15− 50)÷ 5 + 22} × 9 = 33

(8) 306− {(13× 14− 70)÷ + 30} × 5 = 76
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6.自然数の四則混合の逆算vol.1(3問目)

(1) 503− {( × 21 + 35)÷ 7 + 42} × 7 = 48

(2) 317− {(6× 30− 70)÷ + 22} × 8 = 53

(3) 58 + {( × 36− 48)÷ 12 + 32} × 5 = 303

(4) 47 + {(5× 39 + 91)÷ + 28} × 6 = 347

(5) 38 + {(7× 33 + 77)÷ + 49} × 5 = 423

(6) 432− {( × 24 + 40)÷ 8 + 34} × 6 = 72

(7) 70 + {(4× 36 + 24)÷ + 35} × 9 = 511

(8) 60 + {(13× 16− 40)÷ + 46} × 3 = 261


